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Define: French negation

Qu'est-ce que c'est?

Passing from
a positive statement (+)
toa
negative one (-)

How does it work?

negation acts on the verb

sandwich the verb
with NE PAS

sujet NE! verbe | PAS
B
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i sandwich the verb

with NE PAS
Exemples: T
o e 1
' Tam = jesuis ' T have = jai (je ai) |
I I
i (=> suis = verbe) | i (=> ai = verbe) |
I I I
| Ly l
. Tamnot = je|NE|suis|PAS ! Thave not = je[NE|ai*[PAS |
R DN | R
Remember:
*JEai = Jai [ have =jai (not je ai)
*NEai = Nai I have not = je n'ai pas

(not je neai pas)
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Negation & 2 verbs structure:

ONLY sandwich the FIRST verb

R

UIELLY

INLTTE

INFINLYT

je voudrais partir
(Fwould like to leave)

je NE voudrais PAS
partir



